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Example 9

w=v96
w=+V96
=-9.80r9.8

Conclusion: Judging from my answer the minimum is 9.8, which can be rounded up
to 10. Now if I take a look at my previous solutions to the problem, we can see that
when the minimum area is{285.6) the width of my printable area is 10, which is the
answer I gathered from my gradient function equation, therefore I am certain that my
equation is correct, as I have reached the same conclusion when solving my problem
numerically, algebraically and using calculus.

Now that I have solved the problem, I can compare my problem-to real life situations.
Because my problem involves printed page, I can easily use regular paper to test and
confirm my results. I have taken two separate pieces of paper, one placed behind the
other to represent the entire page, and a smaller sheet of paper in the middle to
represent only the printable area, and the measurements all resulted to the same
conclusions as my previous three methods, therefore I can infer that the solution to my
problem is correct.
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